E-cloud CA Plots
(Preliminary)
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32-pixel sum (roughly scaled to mA)
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32-pixel sum (roughly scaled to mA)
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32-pixel sum (roughly scaled to mA)
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32-pixel sum (roughly scaled to mA)

Microns

1.3 mA/bunch

1.4

1 ¢+

0.8

0.6 |

0.4 t

0.2 t

200

150 |

100 |

90 +

.

1.2

Run 3744

5 10 15 20 25 30 35 40 45

1 Train, 45 Bunches, 1.3 mA/bunch

size ———
motion amplitude

5 10 15 20 25 30 35 40 45

Bunch Number

Freq. (/turns)

Freq. (/turns)

2500

2000

1500

1000

000

| IoglIO(FPIS(y)

0 5 10 15 20 25 30 35 40 45
Bunch
log10(FPS(sigma_y)

0

5

10 15 20 25 30 35 40 45

Bunch

=
o

B ORFRPNWRAREOOO~ GO

S P N W RO G~ @

1
=



